Karadeniz Technical University COM 2005 Data Structures

Department of Computer Engineering Midterm Exam, 16.11.2022, 08:30
Lecturer Omer CAKIR Duration : 61 Minutes
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Exam Execution Instructions of Faculty of Enginnering should be obeyed. Questions are related to 1,4,12 of Program Learning Outcomes
L 2. What is the number of recursive insertOrdered()
void insertOrdered( L. .
SinglyNode* newNode, calls of each choise in question 17? (25P)
SinglyNode* previous, SinglyNode* current)
{
if ((current == NULL) A B C D E
|| (newNode->score <= current->score))
{
newNode->next = current;
previous->next = newNode;
}
else
insertOrdered(newNode, current,
current->next);
}
int main()
{
SinglylLinkedList list;
SinglyNode* newNode;
list.head = new SinglyNode;
list.head->elem = "NoName";
list.head->score = 0;
list.head->next = NULL;
newNode = new SlnglyNode,
newNode->elem = "....";
newNode->score = ....;
list.insertOrdered(newNode,list.head,list.head);
newNode = new SinglyNode;
newNode->elem = "....";
newNode->score = ....;
list.insertOrdered(newNode,list.head,list.head);
newNode = new SinglyNode;
newNode->elem = "....";
newNode->score = ....;
list.insertOrdered(newNode,list.head,list.head);
newNode = new SinglyNode;
newNode->elem = "....";
newNode->score = ....;
list.insertOrdered(newNode,list.head,list.head);
}

1. Which score order inserts nodes with min recursive call?
(25P) You'll loose 5P from wrong answer.

(A) 590, 660, 720, 1105
(B) 660, 590, 720, 1105
(C) 590, 1105, 660, 720
(D) 1105, 720, 590, 660

(E) 1105, 720, 660, 590


http://www.ktu.edu.tr/dosyalar/14_00_00_f1057.pdf
http://www.katalog.ktu.edu.tr/DersBilgiPaketi/oloprogram.aspx?pid=9&lang=1

int main()

{

CircularlyLinkedQueue Queue;

Queue.enqueue(5);
Queue.enqueue(4);
Queue.enqueue(3);
Queue.enqueue(2);
Queue.enqueue(l);

Queue.dequeue();
Queue.dequeue();
Queue.dequeue();

Queue.enqueue(3);
Queue.enqueue(4);
Queue.enqueue(5);

Queue.C.print();

3. What is the output of the program above?

(25P)

int main()

{

LStack

LStack

LStack.
LStack.
LStack.
LStack.
LStack.

LStack.
LStack.

LinkedStack LStack;

push(5);
push(4);
push(3);
push(2);
push(1);

pop();
pop();

-pop();

.push(1);
LStack.
LStack.

push(2);
push(3);

cout << "Top = " << LStack.top() << endl;

cout << "Top = " << LStack.top() << endl;

4. What is the output of the program above?

(25P)




